Chapter 11. Matrices

Ex 11.1

Answer 2.

[2a+3b a-b] =[19 2]

[Za+3b a-b]is 1x2matrixand [19 2]is 1x2 matrix

Za+3b =19 (1)
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Putting the value of a in equation (1)
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Answer 6.
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Answer 8.
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Answer 11.
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To add two matrixes their order i.e. their corresponding number of
rows and number of columns should be same, whereas in this case
order of B and B® are not same hence, we cannot add them.



Answer 13.
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Answer 14.
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Answer 15.
Given,
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2at+b=4 —(1)
3a-b=6 —(2)
Adding {1}and(2), we get
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Answer 17.
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Answer 18.
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Ex 11.2

Answer 2.
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Answer 3.
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